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Sample Paper HIEAREELH
Multiple choices BEFERE

Total 36Q
1) CE26Q [72%]

2) AL 10Q (extension {HZEERD) [28%]
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Long Question £REH

Total 84 marks

1) CE 57 marks [68%]

2) AL 27 marks (extension {HZEE5) [32%]

o WA
S| AR H Horkk extension included
fRIEE 7L
Mechanics JJE2 10Q 28% 20
Heat + Gases #22 + RA8 5Q 14% 1Q
Waves JFEEE 8Q 22% 3Q
E &M EhiiE 10Q 28% 3Q
Atomic Physics JFT-#jFHEE 3Q 8% 1Q
BRI
AR A H Horth EH
BEE (A) 13Q 36% 1,2,4,8, 15,16, 17, 18,
24, 29, 30, 34, 35
B (O 92Q 25% 3,6,11, 14, 19, 23, 31,
32,36
EEBI (P) 5Q 14% 1,22, 26,28, 33
EFTE (V) 5Q 14% 5,9,10, 12, 21
HE ©O) 4Q 11% 13, 20, 25, 27
> DUEAEZELIERE Sample paper {E4tET, M EF G A FH5
Prefixes
sub-multiple pre-fix symbol multiple pre-fix symbol
10° centi c 10° kilo k
10° milli m 10° mega M
10° micro u 10° giga G
10” nano n 10" tera T
10 pico D
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BRI T —ERDT - G T ORI — R ] DURIRF I S RV B TR -
Ao e B SRS > BHUS A eI RS -

)7 > B B ARESEEIE - R — 1 AR EE 2T EL
FE57RK level S**-level 1 > FTLIR (Dl GIEZ AN EIREERR L 7T « BERAE
HfF level 5*HY » HE{RIEA T LRI EGEE > IRKAREIUSLY 85% 7T 8{FAE
H level 5% - FEREAMA 15%HE H RE 7 LA TERY » [FEIREREH level 4
Y AR AR AGEY 10% 538 - BRI ALY 30%HIE H 2 rT DA ERY - HEER
PR o DL RBEE » SREIRASH level 5 » (HEFFFA LR EEIEE
ERETRAERT - T3 > R HIFES—EERNHEFREC A EVER - 3
HEFSEMTE S E R TR 1R S e S sl AR R 2 2k - 1R
205 [FIETEE I B LA I B HYRETT - 128 TR S EAH A A PR
AYERSY > B SRt E sy - HIE TR TR AT o (I - &L
[FJE2 - BRERIREEL level 5* » (IR E K B ZEEIHYEHERIRERAVE TRESIIEE
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R A BT E A ERIHT o SRR A A EH level 4 IREAL e HYEE » (RE
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EfEQ o IRMFIEREIEEF AT > ARG R B BT -
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AR ) B 3 $EVH T point
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point, EFENZEAENT 8L - e HEACERAIE A 2 - ZUFRSMEESE
(EL RS s ey, I A = SR R =5 S M R A BB N E E A (A
B2 VaT g RS —&RH HE B L EORE sy AV RIER AR 22 T T 2 3R A FH IR
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HAREHELLME T TE EEMREE O G A A - e & EEH U 54+ -
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T FRER A48 A REAR L5 YRR 58 il = Fal B TRl - A A1
(HEFAR AT LAY - AR 73 -

FRBIAER, & —F ) (net force) JIFATZENTIHI{F-(moving object) B HYZEZ (speed) /& &
S —(E DART e 1[5 2R P [ A T AR = S A [E] B AT RE e R,

BRI T R E E R TITHIR T BRI & WREEREE

B Ng " e RSB RS ARERUTEME R 1] DL EEAM A E A E R
L ERAEGH T LR R EE T LIS e A G BT R - M
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H SR A Sy g1 1, 2 R I = 00 e A A g VBRI 45 HY 5E B
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%TE R (Multiple Choices)
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AR - £ G I B R EE level S**HYEIZ M AE 51 - [FIZ2F 0]
RERSETEE > B HIREURE M M A R B Y& ZE A S - K > BFZEHE
HIREE - AR A EEE - R0 HE — AR IR (E F 2R 552
5o MEBUERE TSR - LUN RO
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(With reference to past paper)
A car accelerates at 2 m s~ along a straight horizontal road. A person of mass 10
kg is sitting on a seat inside the car. Find the magnitude of the resultant force
exerted by the seat on the person.
PREIKSEEREDL 2 m s JIERAT#: - B A —(EE & 10 kg IV ALIERT
E o RKEFEREAS EETIREHE -

A. 20N B. 100N C. 102 N(Ans) D. 120N
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Solution:
L N

F =ma
F=10x2
F=20N

BET A BEZ > BEBIIEL -
HREE  TRERTFEREAS EETINEE - HE me 2t

HAEERE
B/ N AT ST > FrD TR Z & T AN EZ S me > TEZ DL T /A5 5

R
4

baby » [

mg

F.=vR2+F?
F. =+Mmg®+ma’

F., =+(10x10)’ +(10x 2)’

F. =102N

it > MERGE R A SR > FEZMREE - B EHH 7EE LY
IR - SRR EHT - WA BERFIL T8 - s EEFE 2V NOEFREHNE—

TARIBIEE -
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FHN—HHE H E S SR MTEHE - s EA = EHEEHAEE - [FEMFR=ES
HHLEE - HUEN > BUEE RS FTYEERDS - (BB R R - AR A
H ez e sty > RIS PRGN R A RERE H 8 T 8EME S - DUT BB

(With reference to past paper)

A small iron ball and a large cannon ball were dropped from the top of a high
building. He found that the two balls reached the ground at almost the same time.
Which of the following is/are correct deduction(s) from this experiment?

(1) The two balls fell with the same acceleration.

(2) A body will maintain uniform motion if there is no external force acting on it.

(3) The gravitational forces acting on the two balls were 1dentical.

>

(1) only(Ans) B. (3)only C. (D and (2) only
D. (2)and (3) only E. (1), (2) and (3)

R I K ] R A — K TE e (R I {8 NERER AN — MR« 3835 R (2K
A2 [F] IR e A -

A IERO > WL DL B R A LAY IE RS S 2

(1) FIERLUHEIRTAIZEE NEE

Q) PRetEI2 A NIRIER T SRy 2 s -

(3) TERFRIERAVE SIS -

A RFHEQOED) B. HEQ) C. HADLQ)
D. HAEQFXQ) E. (D)~ @QRHQ)
Solution:
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